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1. c) I

2. c) You, Kishore and I will stay together

3. c) you and me

4. a) my leaving

5. c) me

6. d) myself

7. c) yours

8. a) their

9. d) yours

10. a) mine

11. a) his

12. b) myself

13. c) one’s

14. d) one’s

15. c) he

16. a) one’s

17. d) yours

18. a) he had enjoyed himself

19. d) hers

20. a) each other

21. d) anyone

22. a) any

23. a) its

24. c) each

25. a) his

KWnXw efnXw ˛ 12KWnXw efnXw ˛ 12KWnXw efnXw ˛ 12KWnXw efnXw ˛ 12KWnXw efnXw ˛ 12

PQ Hunt

1) _p[≥_p[≥_p[≥_p[≥_p[≥
P\p-hcn (31-̨ 28) = 3
 s^{_p-hcn    = 0
       am¿®v     = 11

     14
               14/7 ® injvSw = 0

      _p[≥ +0 = _p[≥

2) _p[≥_p[≥_p[≥_p[≥_p[≥

Unkw-_¿(31-̨ 3) = 28
 P\p-hcn         = 3

                                    31
        31/7  ® injvSw = 3

      Rmb¿ + 3 = _p[≥

3) Rmb¿ Rmb¿ Rmb¿ Rmb¿ Rmb¿

13- ˛ mw XobXn  = sh≈n
15 -̨  mw XobXn  = Rmb¿

     F¶n¬,  8 ˛ mw XobXn  = Rmb¿

  1 ˛ mw XobXn  = Rmb¿

4)- i\ni\ni\ni\ni\n
75/7  ® injvSw = 5

       Xn¶ƒ + 5 = -i\n

5) Rmb¿Rmb¿Rmb¿Rmb¿Rmb¿

am¿®v amkw D]-tbm-Kn-°p∂ Ie-≠¿
\hw-_¿ amkhpw D]-tbm-Kn-°mw.

am¿®v 8 Xn¶-fmgvN Bbm¬ \hw-_¿ 8 Dw
Xn¶-fmgvN Bbn-cn-°pw.

\hw-_¿ 8 ˛ Xn¶ƒ

\hw-_¿ 14- -̨ Rm-b¿

6) Xn¶ƒXn¶ƒXn¶ƒXn¶ƒXn¶ƒ

2012 P\p-hcn 26 ˛ h-ymgw
  Pq¨ 1 ˛ ?
5 + 1 + 3 + 2 + 3 + 11 = 25
  25/7  ® injvSw = 4

                        hymgw + 4 = Xn¶ƒ

a[pcw aebmfw ˛ 12
1. a) X≤nXw

2. c) a≠-Øcw

3. b) X≤nXw

4. d) X∑m{Xm X≤nXw

5. b) sX°≥

6. d) X∑m{Xm X≤nXw



7) 9191919191

P\p-hcn     = 31

s^{_p-hcn = 29

am¿®v       = 31

                               91

8) sh≈nsh≈nsh≈nsh≈nsh≈n

 1 ˛ mw Xob-Xn-  -̨ sNm∆

 8 ˛ mw Xob-Xn-  ˛ sNm∆

15 -̨  mw XobXn  ˛ sNm∆

22- ˛ mw Xob-Xn  ˛ sNm∆

25 -̨  mw XobXn ˛ sh≈n

9) hymgwhymgwhymgwhymgwhymgw

2014 P\p-hcn 1 ˛ _p[≥

2014 sabv 1 ˛ ?

                  30 + 0 + 3 + 2 +1 = 36

                  36/7  ® injvSw = 1

                  _p[≥ + 1 =- h-ymgw

10) sNm∆sNm∆sNm∆sNm∆sNm∆

BKÃv 15 ˛ _p[≥

HIvtSm-_¿ 2 ˛ ?

16 + 2 + 2 = 20
                20/7  ® injvSw = 6

_p[≥ + 6 = sNm∆

11) i\ni\ni\ni\ni\n

2000 P\p-hcn 1 -̨ i\n

2005 P\p-hcn 1

           5 + 2 = 7

7/7  ® injvSw = 0

i\n + 0 = i\n

12) sNm∆sNm∆sNm∆sNm∆sNm∆

2016 P\p-hcn 1 -̨ Xn-¶ƒ

        am¿®v 5 ˛ ?

                    30 + 1 + 5 = 36

      36/7  ® injvSw = 1

     Xn¶ƒ + 1 = sNm∆

13) Rmb¿Rmb¿Rmb¿Rmb¿Rmb¿

sk]vXw-_¿ 29 ˛ hymgw
 HIvtSm-_¿ 2 = ?

1 + 2 = 3
hym-gw + 3 = Rm-b¿

14) Xn¶ƒXn¶ƒXn¶ƒXn¶ƒXn¶ƒ

am¿®v amk-Ønse Ie-≠¿ \hw-_¿
amkØnepw D]-tbm-Kn°mw

am¿® 14- -̨ Rm-b¿
\hw-_¿ 14- -̨ Rm-b¿
\hw-_¿ 7 ˛ Rmb¿
\hw-_¿ 8 -̨ Xn-¶ƒ

15) sh≈nsh≈nsh≈nsh≈nsh≈n

27/7  ® injvSw = 6
         i\n + 6 = sh≈n

Are you Intelligent
 1) _p[≥_p[≥_p[≥_p[≥_p[≥

  C∂-se-bpsS Xte-∂v  ˛  -i-\n-bmgvN

     C∂v-  -̨  Xn-¶-fmgvN

    \msf-  -̨  sNm∆

           \msf-bpsS ]nt‰-∂v-  ˛  -_p-[≥

2) 9191919191

P\p-hcn     = 31

s^{_p-hcn = 29

am¿®v        = 31

                               91

3) hymgwhymgwhymgwhymgwhymgw

2003 \hw-_¿ 15 i\n

2018 \hw-_¿ 15   ?

    15 + 4 = 19
       19/7  ® injvSw = 5

 i\n + 5 = hymgw

4) 20292029202920292029

2018  = injvSw 2 h∂Xn\m¬ 11 Iq´pI
                4

                    2018 +
                      11
                   2029

5) sabv 21sabv 21sabv 21sabv 21sabv 21

cmas‚ Hm¿Ω-bn¬ P∑-Zn\w hcm≥
km[-yXbp≈ Znhkw

= 21, 22, 23, 24, 25, 26, 27
       KoX-bpsS Hm¿Ω-bn¬

= 13, 14, 15.16, 17, 18, 19, 20, 21
c≠nepw s]mXp-hmbn hcp∂ Znh-k-
am-bncn°pw cmPs‚ ]nd-∂mƒ = sabv 21


